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LIKE CHEBYSHEV’S INEQUALITIES FOR CONVEX FUNCTIONS
AND APPLICATIONS

Zinelâabidine Latreuch and Benharrat Beläıdi

Abstract. In this paper, we will show some new inequalities for convex func-
tions, and we will also make a connection between them and Chebyshev’s inequality,
which implies the existence of new class of functions satisfying Chebyshev’s inequal-
ity.
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1. Introduction and main results

A classic result due to Chebyshev (1882-1883) [2, 5, 8, 9, 11] is stated in the following
theorem.

Theorem 1. Let f, g : [a, b] → R and p : [a, b] → R+ be integrable functions. If f
and g are monotonic in the same direction, then

b∫
a

p (x) dx

b∫
a

p (x) f (x) g (x) dx ≥
b∫
a

p (x) f (x) dx

b∫
a

p (x) g (x) dx (1.1)

provided that the integrals exist. If f and g are monotonic in opposite directions,
then the reverse of the inequality in (1.1) is valid. In both cases, equality in (1.1)
holds if and only if either g or f is constant almost everywhere.

There exist several results which show that Chebyshev inequality is valid under
weaker conditions, for example the condition that the functions be monotonic can
be replaced by the condition that they be similarly ordered. In this case Theorem 1
is a simple consequence of the following identity:

b∫
a

p (x) dx

b∫
a

p (x) f (x) g (x) dx−
b∫
a

p (x) f (x) dx

b∫
a

p (x) g (x) dx
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Zinelâabidine Latreuch and Benharrat Beläıdi – Like Chebyshev’s inequalities. . .

=
1

2

b∫
a

b∫
a

p (x) p (y) (f (x)− f (y)) (g (x)− g (y)) dxdy. (1.2)

Note that the functions f : I → R and g : I → R are said to be similarly ordered if

(f (x)− f (y)) (g (x)− g (y)) ≥ 0 for every x, y ∈ I (1.3)

holds, and they are said to be oppositely ordered if the reverse inequality holds. Of
course, the generalization of the identity in (1.2) for functions with several variables
is also valid (see [1, 9] ). Thus similar generalizations of Theorem 1 are valid for
similarly ordered functions. The first such result is given by Hardy, Littlewood and
Pólya ([5], p. 168).

Another modification of the conditions for Chebyshev inequality was given by Levin
and Stečkin (see [6, 7]), and they proved the following result:

Theorem 2. Let p (x) be defined on [0, 1] and satisfying the conditions:
(i) p (x) is increasing for x ∈

[
0, 1

2

]
;

(ii) p (x) = p (1− x) for x ∈ [0, 1] .
Then for every continuous convex function φ we have

1∫
0

p (x)φ (x) dx ≤
1∫
0

p (x) dx

1∫
0

φ (x) dx.

The aim of this paper is to prove new type of inequalities for convex functions,
and we put a link between these inequalities and Chebyshev’s inequality.

Theorem 3. Let f, g : [a, b] −→ R be convex (or concave) functions and p : [a, b]→
R+ be integrable symmetric function about x = a+b

2 (i.e., p (a+ b− x) = p (x) , for
all x ∈ [a, b]). Then

b∫
a

p (x) f (x) g (x) dx+

b∫
a

p (x) f (x) g (a+ b− x) dx

≥ 2
b∫
a
p (x) dx

b∫
a

p (x) f (x) dx

b∫
a

p (x) g (x) dx. (1.4)

If f is convex (or concave) and g is concave (or convex) functions, then the inequality
(1.4) is reversed, equality in (1.4) holds if and only if either g or f is linear.
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Corollary 4. Let f, g : [a, b] −→ R be convex (or concave) functions. If g is sym-
metric function about x = a+b

2 , then

b∫
a

f (x) g (x) dx ≥ 1

b− a

b∫
a

f (x) dx

b∫
a

g (x) dx. (1.5)

If f is convex (or concave) and g is concave (or convex) functions, then the inequality
(1.5) is reversed, equality in (1.5) holds if and only if either g or f is linear.

Theorem 5. Let f, g : [a, b] −→ R be convex (or concave) functions.
(i) If f and g are similarly ordered, then

b∫
a

f (x) g (x) dx ≥ 1

2

 b∫
a

f (x) g (x) dx+

b∫
a

f (x) g (a+ b− x) dx



≥ 1

b− a

b∫
a

f (x) dx

b∫
a

g (x) dx. (1.6)

(ii) If f and g are oppositely ordered, then

b∫
a

f (x) g (a+ b− x) dx ≥ 1

b− a

 b∫
a

f (x) dx

 b∫
a

g (x) dx



≥
b∫
a

f (x) g (x) dx. (1.7)

Theorem 6. Let f, g : [a, b] −→ R, where f is convex function and g decreasing on[
a, a+b

2

]
and increasing on

[
a+b

2 , b
]
. Then the inequality (1.4) holds.

2. Some lemmas

Lemma 7. Let f : [a, b] −→ R be convex (or concave) function. Then

F (x) = f (x) + f (a+ b− x)

is decreasing (increasing) on
[
a, a+b

2

]
and increasing (decreasing) on

[
a+b

2 , b
]
.
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Proof. Suppose that f is a convex function. Since f is a convex function, then either
f is monotonic on ]a, b[ , or there exists an ζ ∈ ]a, b[ such that f is decreasing on the
interval [a, ζ] and increasing on the interval [ζ, b], for more information see ([10], p.

26). Since F is convex function on [a, b] , and symmetric about x =
a+ b

2
, then we

can deduce easily that F must be decreasing on the interval
[
a, a+b

2

]
and increasing

on the interval
[
a+b

2 , b
]
. Now, if f is a concave function, then by using the same

proof as above we obtain the result.

Lemma 8. Let f, g : [a, b] −→ R be two integrable functions. If f and g are similarly
ordered, then

b∫
a

f (x) g (x) dx ≥
b∫
a

f (x) g (a+ b− x) dx. (2.1)

If f and g are oppositely ordered, then the inequality (2.1) is reversed.

Proof. Since f and g are similarly ordered, then we have for all x ∈ [a, b]

(f (x)− f (a+ b− x)) (g (x)− g (a+ b− x)) ≥ 0, (2.2)

which implies that

f (x) g (x) + f (a+ b− x) g (a+ b− x) ≥ f (x) g (a+ b− x)

+g (x) f (a+ b− x) . (2.3)

By integrating both sides of inequality (2.3) over the segment [a, b] we obtain (2.1) .

3. Proof of the Theorems

Proof of Theorem 3.

Proof. First, we suppose that f and g are convex (or concave) functions and we
denote by F and G the following functions

F (x) = f (x) + f (a+ b− x) , G (x) = g (x) + g (a+ b− x) .

Since f and g are convex functions, then by using Lemma 7 we deduce that F and G
have the same variation. By applying Chebyshev’s inequality in

[
a, a+b

2

]
, we obtain

a+b
2∫
a

p (x)F (x)G (x) dx ≥ 1
a+b
2∫
a
p (x)

a+b
2∫
a

p (x)F (x) dx

a+b
2∫
a

p (x)G (x) dx, (3.1)
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where p : [a, b]→ R+ is integrable symmetric function. Then

a+b
2∫
a

p (x) [f (x) g (x) + f (a+ b− x) g (a+ b− x)] dx

+

a+b
2∫
a

p (x) [f (x) g (a+ b− x) + f (a+ b− x) g (x)] dx

≥

 1
a+b
2∫
a
p (x)




a+b
2∫
a

p (x) [f (x) + f (a+ b− x)] dx



×


a+b
2∫
a

p (x) [g (x) + g (a+ b− x)] dx

 . (3.2)

Using the identities
a+b
2∫
a

f (x) dx =

b∫
a+b
2

f (a+ b− x) dx, (3.3)

a+b
2∫
a

p (x) dx =
1

2

b∫
a

p (x) dx, (3.4)

and
a+b
2∫
a

f (x) g (a+ b− x) dx =

b∫
a+b
2

f (a+ b− x) g (x) dx, (3.5)

we obtain
a+b
2∫
a

p (x) f (x) g (x) dx+

b∫
a+b
2

p (x) f (x) g (x) dx
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+

a+b
2∫
a

p (x) f (x) g (a+ b− x) dx+

b∫
a+b
2

p (x) f (x) g (a+ b− x) dx

≥

 2
b∫
a
p (x)




a+b
2∫
a

p (x) f (x) dx+

b∫
a+b
2

p (x) f (x) dx



×


a+b
2∫
a

p (x) g (x) dx+

b∫
a+b
2

p (x) g (x) dx

 . (3.6)

From (3.6) , we easily obtain (1.4) . Now, if f is convex (or concave) and g is concave
(or convex) functions, then by using the same proof as above we obtain the result.

Now, we prove that equality in (1.4) holds if and only if either g or f is linear.
Without loss of generality, we suppose that f is linear and g is convex (or concave)
function. Then

F (x) = f (x) + f (a+ b− x)

= αx+ β + α (a+ b− x) + β = α (a+ b) + 2β

and
G (x) = g (x) + g (a+ b− x) .

Since F is constant, G monotone on
[
a, a+b

2

]
and

[
a+b

2 , b
]
, then by applying Theorem

1, we obtain

a+b
2∫
a

p (x)F (x)G (x) dx =
1

a+b
2∫
a
p (x) dx

a+b
2∫
a

p (x)F (x) dx

a+b
2∫
a

p (x)G (x) dx

which is equivalent to

b∫
a

p (x) f (x) g (x) dx+

b∫
a

p (x) f (x) g (a+ b− x) dx

=
2

b∫
a
p (x) dx

b∫
a

p (x) f (x) dx

b∫
a

p (x) g (x) dx.
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Zinelâabidine Latreuch and Benharrat Beläıdi – Like Chebyshev’s inequalities. . .

Proof of Theorem 5.

Proof. (i) Since f and g are convex functions and similarly ordered, then by Lemma
8 we have

b∫
a

f (x) g (x) dx ≥
b∫
a

f (x) g (a+ b− x) dx, (3.7)

which we can write

2

b∫
a

f (x) g (x) dx ≥
b∫
a

f (x) g (a+ b− x) dx+

b∫
a

f (x) g (x) dx. (3.8)

By Theorem 3 and (3.8), we have

2

b∫
a

f (x) g (x) dx ≥
b∫
a

[f (x) g (a+ b− x) + f (x) g (x)] dx

≥ 2

b− a

 b∫
a

f (x) dx

 b∫
a

g (x) dx

 .

So,
b∫
a

f (x) g (x) dx ≥ 1

2

b∫
a

[f (x) g (a+ b− x) + f (x) g (x)] dx

≥ 1

b− a

 b∫
a

f (x) dx

 b∫
a

g (x) dx

 . (3.9)

(ii) Since f and g are convex functions, then by Theorem 3

b∫
a

f (x) g (a+ b− x) dx− 1

b− a

 b∫
a

f (x) dx

 b∫
a

g (x) dx



≥ 1

b− a

 b∫
a

f (x) dx

 b∫
a

g (x) dx

− b∫
a

f (x) g (x) dx. (3.10)
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On the other hand, we have

1

b− a

 b∫
a

f (x) dx

 b∫
a

g (x) dx

 ≥ b∫
a

f (x) g (x) dx, (3.11)

because f and g are oppositely ordered. By (3.10) and (3.11) , we get

b∫
a

f (x) g (a+ b− x) dx ≥ 1

b− a

 b∫
a

f (x) dx

 b∫
a

g (x) dx



≥
b∫
a

f (x) g (x) dx, (3.12)

and the proof of Theorem 5 is complete.

Proof of Theorem 6.

Proof. We denote by F and G the following functions

F (x) = f (x) + f (a+ b− x) , G (x) = g (x) + g (a+ b− x) .

Since f is convex function, then by Lemma 7, F is decreasing on
[
a, a+b

2

]
and

increasing on
[
a+b

2 , b
]
. In order to prove (1.4) we need to prove that G is decreasing

on
[
a, a+b

2

]
and increasing on

[
a+b

2 , b
]
. Let x, y ∈

[
a, a+b

2

]
and set x∗ = a + b − x,

y∗ = a+ b− y where x∗, y∗ ∈
[
a+b

2 , b
]
. It’s clear that if x ≤ y, then x∗ ≥ y∗. Since g

is decreasing on
[
a, a+b

2

]
and increasing on

[
a+b

2 , b
]
, then we have

g (x) ≥ g (y)

and
g (x∗) ≥ g (y∗) .

Then
G (x) = g (x) + g (x∗) ≥ g (y) + g (y∗) = G (y) ,

which implies that G is decreasing on
[
a, a+b

2

]
. By the same method we can prove

easily that G is increasing on
[
a+b

2 , b
]
. Then F and G have the same variation, and

by applying Theorem 1 with p : [a, b]→ R+ is integrable symmetric function about
x = a+b

2 , we obtain inequality (1.4) .
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4. Applications

The following inequality is sharper (refinement) than Cauchy’s inequality.

Theorem 9. Let f be convex (or concave) function on [a, b] . Then we have

b∫
a

f2 (x) dx ≥
b∫
a

f (x)G (x) dx ≥ 1

b− a

 b∫
a

f (x) dx

2

, (4.1)

where G (x) = f(x)+f(a+b−x)
2 .

Proof. Putting f (x) = g (x) in (1.6) we obtain (4.1) .

The Riemann-Liouville fractional integral operator of order α ≥ 0, for a continuous
function f is defined as [4, 12]

Jα(f)(x) =
1

Γ (α)

x∫
0

(x− t)α−1 f (t) dt (α > 0, x > 0) , J0f(x) = f (x) ,

where Γ (α) =
∞∫
0

e−uuα−1du denotes the well-know Gamma function.

In the following application we prove that the Riemann-Liouville fractional
integral operator satisfies new inequalities under some conditions.

Theorem 10. Let f be convex function on [0,+∞) .
(i) If α ≥ 2, then

Jαf(x) ≥ 1

Γ (α)

2
xα−1

α

x∫
0

f (t) dt−
x∫
0

tα−1f (t) dt

 . (4.2)

Furthermore, if f is increasing function, then we have

1

Γ (α)

x∫
0

tα−1f (t) dt ≥ Jαf(x) ≥ 1

Γ (α)

2
xα−1

α

x∫
0

f (t) dt−
x∫
0

tα−1f (t) dt

 . (4.3)

(ii) If 0 < α ≤ 2, then

Jαf(x) ≤ 1

Γ (α)

2
xα−1

α

x∫
0

f (t) dt−
x∫
0

tα−1f (t) dt

 . (4.4)
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Proof. (i) Let g (x) = xα−1, α > 0. It’s clear that g is increasing convex function
on [0,+∞) for α ≥ 2 and concave for 0 < α ≤ 2. By applying inequality (1.4) for f
and g (a = 0, b = x > 0 and p (x) = 1) we obtain

x∫
0

tα−1f (t) dt+

x∫
0

(x− t)α−1 f (t) dt ≥ 2

x

 x∫
0

tα−1dt

 x∫
0

f (t) dt

 ,

which implies

x∫
0

(x− t)α−1 f (t) dt ≥ 2
xα−1

α

 x∫
0

f (t) dt

− x∫
0

tα−1f (t) dt. (4.5)

Multiplying both sides of inequality (4.5) by 1
Γ(α) , we obtain

Jαf(x) =
1

Γ (α)

x∫
0

(x− t)α−1 f (t) dt

≥ 1

Γ (α)

2
xα−1

α

 x∫
0

f (t) dt

− x∫
0

tα−1f (t) dt

 .
Furthermore, if f is increasing on [0,+∞) , then by applying (1.6) we obtain

2

x∫
0

tα−1f (t) dt ≥
x∫
0

tα−1f (t) dt+

x∫
0

(x− t)α−1 f (t) dt

≥ 2

x

 x∫
0

tα−1dt

 x∫
0

f (t) dt

 ,

which implies

1

Γ (α)

x∫
0

tα−1f (t) dt ≥ Jαf(x)

≥ 1

Γ (α)

2
xα−1

α

 x∫
0

f (t) dt

− x∫
0

tα−1f (t) dt

 .
(ii) It’s clear that (1.4) is reversed if g (x) = xα−1 is concave function, i. e., for
0 < α ≤ 2. By applying inequality (1.4) for f and g (a = 0, b = x > 0 and
p (x) = 1) we obtain (4.4) .
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Theorem 11. (Refinement of Fejér inequality, [3]) Let f be convex function on
[a, b] , and let p be a positive, convex and symmetric function about x = a+b

2 . Then

b∫
a

p (t) f (t) dt ≥ 1

b− a

b∫
a

p (t) dt

b∫
a

f (t) dt ≥ f
(
a+ b

2

) b∫
a

p (t) dt. (4.6)

Proof. Since f is convex function on [a, b] and p is convex symmetric about x = a+b
2 ,

then by Corollary 4 we obtain

b∫
a

p (t) f (t) dt ≥ 1

b− a

b∫
a

p (t) dt

b∫
a

f (t) dt. (4.7)

On the other hand by Hermite-Hadamard inequality, we have

1

b− a

b∫
a

f (t) dt ≥ f
(
a+ b

2

)
. (4.8)

By using (4.8) , we obtain from (4.7)

b∫
a

p (t) f (t) dt ≥ 1

b− a

b∫
a

p (t) dt

b∫
a

f (t) dt ≥ f
(
a+ b

2

) b∫
a

p (t) dt

and the proof is complete.
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Izdatelstvo Akademii Nauk SSSR, Moscow-Leningrad. 1946, 1947, 1948, vol. 1, 342
pp.; vol. 2, 520 pp.; vol. 3, 414 pp.; vol. 4, 255 pp.
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the University Press, 1952.

93
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